1 guark = 2.9 whos

Change:

1 whos = 5 mahees

Dimensional analysis #1
Name

KEY

Show all set-ups!!
Given the following information:
1 bug = 3.7 quarks

1)

2.)

3.

4.}

3.0quarktobug > 3.0gx1b = 0.81081081b

q->b 3.7q

1.3 mabees to quarks > 1.3mx 1w
m->w->q 5m

29w

7.0whos tobugs > 70w x 1g x 1b
w>q=>b

29w 3.7

8.75 kuz to quarks > 8.75k x 32m x 1w x 19 =

x 1g_ =0.089655172 q

= 0.652376514 b

1.931034483 q

k>m-=>w=q

5 25bugtokuz> 25b X

b>g>w—>m=>KkK

1k 5m 29w

379 x29w x 5m x
1b 1q 1w

-_k=
32m

6) 2.0X 107 quarks to mabees->2.0x10°¢ x 29w x 5m =

g>w>m=2Kk

7.) 900. quarks to whos —> 900
q2>wW

8) 4.8X10°kuz to mabees> 4.8x10°k x 3.2m = 1536000 m

k-=>m

9.) 205 mabees to whos > 205 mx 1

m-=>w

1q 1w
gx29w = 2610w
19
1k
w = 41w

U‘l

10.) 15bug?® to quarks®-> 15b% x 3.72¢° = 205.35 ¢°

b? > ¢°

1b2

11) 2.5 mabees® to kuz> > 25m’ x _1°K k2 =0.24 K

m? > k*
12) 1.50 X 10° kuz® to bug® >

1500 kZ x 3.22m> x 1*w® x

3.22

2> m?2o> w2 g° > b?

12q2

x 12 b? =5.336441625 b?

12 k2 52 m2

292w 3.7°¢°

1 kuz = 3.2 mabees

1. 081D

2. 0.090q

3. 065D

4. 193¢

41.9140625k 5. 42K

6. 0.029m__
7. 2610w__
8. 15x10°m

9. 410w
10._210 ¢*

11, 024K
12. 5.34 b*
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Set up and solve the following problems using dimensional
propet numbes of significant figures.

| _ Vl.(). Calcnlate the density of
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L4

analysis, Be sute to express your results to the

/. How many seconds are there in 1.2 weeks? C

v2. How many centime(ers are there in 4.38 feet? '

3. How many metess did you run if the disgance run was 6.59 % 10° inches?

4. What is the mass of # suitcase, in pounds, if it weighs 19.5 kilograms?

15. Harecipe calls for 37 grams of suagar, how many pounds does that corcespond to?
6. Bxpress & volume of 589 cm’ in ft’ and i’ - '

/1, How ruany liters are equal to 39 n°?
" I a.car travels at 445 x 10° fuhr, what would its speed be in meters/min?

179, What is the density of a substance if it has a mass of 59,2 grams and a volume of 17.0 mL?

liquid, in gramslcma, if it has 8 mass of 23.2 grams and occupies a cube
with dimensions of 1.3 e 5.6 cm X 2.3 in.

L. 1 a liquid has a density of 1.04 gL, what would its density be in Ib/in°?

/12, What volume, in liters, would 88.9 grams of a substance occupy if its density is

Vi3, What is the mass, in pounds, of 389 L, of a gas that has a density of 1.29 g/lL?

14, Convert 37°C to °Fand K. :

#15. Which temperatute is the coldest? ' C T
a)y —12°C b) 18°F c) 248K

7 days| e
wk ! J¢~7

vy o, 34 1°IL Iy | 25T ]34 em
| £ [ ik

ﬁ‘t . ?hl'ft? j/*"\l»*

2.38 g/mL?

bosec . 7257760
{ ok Hhepe s An eyatd #
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LDm:;x

" /L. wagks

3, by 700 "

i, 4';,0 b /o 1?'23/%5}:.3?-@353/%3

g 0083 b 1, 6.037¢€ e/ in? \
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Dimensional Analysis Practice Problems ' 1
1) 0.56kg="7mg

| 0.56kg x ,mqg;x I mg = St’*‘ﬁiﬁ'ﬁ“b mg
1 kg odwl 8

2y 12ng=1¢g
- .q
12ng x O g= LoD g
| "8
3) 2,0in =?mm (lin=2.54 cm)
( . |
2.0in x Q,g"}mx &, mx I mm = S) mm '
y in | m O,ct) m '
4) 500f=7m .
so0f x Y inx LO% omx .ol m= iSJ‘#L,Z m}'Z(f?ﬁ?fY"
iy ft ] in | otn i
5) 10pL =?ce (1@-= Tem® =1 cc) :
=l
opL x 1O Ix \ b x ) e = Gl co
Bl O, o0l L ] mkL : E

6) 3 wk="17min
3wk X P) d&-‘{ X f)‘bf 'in{y; x L:O fnid = 3/-7 'Zlylb_ min
y Wk y c\(x»l b 30,650
7} 50mL =7 oups (1L = 4.226cups)

‘50ml % o0t L ’1:)-1‘? Wgﬂ = @,,2“3 cups
w1 L 0,962 CUPS

8) 5.33km =17 dm

saskmx 1OUD W x| dm = 5338 dm
foRm el hn
9 123.0mg =7 Mg 12
123.0ng x 1Y% ﬁ X \ N\ﬁ = /fr;?:'}ﬂ)i_m Mg
! W’) ( ole rj ,

C10) 3yds=71n (1 yd=3i)

3yds x 3 bt X |- l‘r\ - l 7 Cg, i
[ \l‘i ] Tk | s l/lmmﬁ{m{
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